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 EXAM DETAILS
· The OPEN BOOK online exam is marked out of 50 and worth 50% of the unit assessment.
· To obtain a passing grade in this unit, students must (1) obtain a score of at least 50% overall for the unit; and (2) attempt all assessment items.
· The exam consists of five (5) questions: 
· Question 1 @ 5 marks 
· Question 2 @ 5 marks 
· Question 3 @ 10 marks 
· Question 4 @ 15 marks 
· Question 5 @ 15 marks 
· Questions will be a mix of conceptual and calculation-based questions. Note: there are no multiple choice questions.
· Each question may include sub-parts (e.g., 1a, 1b, etc.).
· The exam questions may cover content from any of the six (6) Modules taught in this unit. 
· Students are to attempt ALL questions.
· Full calculation workings/answers are required and academic referencing will be needed for written responses where you are citing materials.
· Provide your typed answers (including any embedded Excel calculation workings) and references (including reference list) in the exam paper.
· There is no word limit in this exam.
· There is no sample exam for this unit. 
Before commencing the exam, please enter the following identifying information.
Name: 
Student ID: 
Enrolment Location: 
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QUESTION  1   ( 5   marks)     Ethics are important in business. Provide a recent example of an ethical failing in corporate  Australia   and  answer   the following:   i.   W hat happened ?   (1 mark)   ii.   H ow  could  it  have been prevented   by  management ?  (2 marks)   iii.   What were the lessons  learnt   and implications for the   wider business commun ity ?   (2  marks)  
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QUESTION  2   ( 5   marks)     Leon Luck   has won  a  big  prize   and will  be given   $ 100,000   every six  months   commencing   today for the next 2 5   years. If he invests the  winnings  at a rate of  9.2 4   percent per annum,  what will be the :     i.   P resent value of the cash flows   (2 marks)   ii.   F uture value of the cash flows   (2 marks)   iii.   E ffective annual rate  (1 mark)  
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QUESTION  3   (1 0   marks)     a)   You are starting a n   Asian fusion   restaurant and need to buy a n electrical   vehicle for  delivery orders , as you are worried about the impact the emissions  generated from  the deliveries will harm the environment . You  are considering two models . Model  1   costs $ 5 0,000 and is expected to run for  8   years .  Model  2   costs   $ 55 ,000 and  is   expected  to run   for   1 1   years. The annual maintenance costs are $ 1, 5 00 for Model  1   and $ 1,0 00 for Model  2 . Assume that the cost of capital is  8   percent.       In considering the   initial  outlay and   ongoing  annual expense of owning  either of  the  electrical vehicle s   over different lives , w hich one should you buy?   (5 marks)  
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b)   ElectroTech   Ltd is  thinking about  purchasing   equipment   that costs $ 1, 2 0 0 ,000   for a  new project . The  equipment   will  produce sales   of $ 40 0 ,000 per  annum   for  six   years.   E xpenses associated with the   sales   will  be   $ 1 0 0 ,000 per  annum. Consultancy  and  research and development   (R&D )   costs   incurred before the proje ct  commences  will  be  $80,000 .  O ther cash expenses will be $ 20 ,000 per year. The  equipment   is  expected to sell for  $100 , 0 00 at the end of its  six - year life and will be depreciated on  a straight - line basis over  six   years to zero.  ElectroTech ’s tax  rate is 3 0   percent   and its  cost of capital is 1 2   percent.   
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i.   What is the project's NPV   and IRR ?  (3 marks)   ii.   Should  ElectroTech   accept or reject the project?   Why?   (1 mark )   iii.   What other considerations should be made regarding the project  decision ?   ( 1  mark )  
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QUESTION  4   ( 1 5   marks)     a)   You need finance to expand your rapidly growing business.  Briefly d escribe  three   ( 3 )  advantages   AND t hree   ( 3 )  disadvantages   of raising capital through  private equity   ( 3   marks)  
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b)   Other than private equity, identify and describe  one (1)   alternative source of  financ ing   you could explore to raise capital. Provide  and briefly di scuss  a  recent  example of  a  ‘real world’ capital raising activit y   to support your answer ( 3   marks)  
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c)   Two firms are looking to borrow funds from a commercial bank for  10   years.  Alpha   Ltd has an exceptional credit rating and can borrow at the prime rate. On the other  hand, due to some financial distress recently encountered during COVID - 19,  Beta   Ltd’s credit rating is prime +  4 . The current prime rate is  4 . 7 5% . T he 30 - year Treasury  bon d yield is  3 . 6 0 %, 10 - year Treasury bond yield is 1. 75 %,   5 - year Tr eas ury bond yield  is 1.10%,   and the 3 - month Treasury bill yield is 0. 30 %.       What are  Alpha  and  Beta ’s respective loan rates? (3 marks)  
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d)   One of the conditions that the M&M  p ropositions required   regarding   firm  capital  structure   was for there to be no  tax.  Does  the introduction of tax decrease   or  increase   the value of a company ? Explain   ( 3   marks)  
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e)   Dusk   Ltd has $ 2 5   million of debt outstanding and $ 15   million of equity outstanding.  The cost of equity is 1 2 %, cost of debt is  8 .25 % and company tax rate is 30%.      What is the weighted average cost of capital for  Dusk   Ltd? (3 marks)  
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Q UESTION  5   ( 1 5   marks)     a)   You are examining the  historical  dividend policy of a   large - cap value   IT  company,  CryptoKnight   Ltd , to gain some context on how it approached its dividend decision - making during  periods of heightened market volatility   and what its next move is likely  to be in terms of the next dividend payment. Note: the economic/market conditions  encountered by the company from 2014 to 2018 are   similar to  those currently being  experienced .   The fo llowing chart shows  the  company’s EPS and DPS   over a five year  (5) period   from 2014 to 2018.   
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What  historical  dividend policy does the  above chart   suggest  CryptoKnight   Ltd   has  adopted  during th e   period   under investigation ?   Why has the company employed this  particular  dividend policy?   Discuss   ( 5   marks)  
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b)   A   rapidly   emergin g   company,  Crypto Max   Ltd, also operates in the  IT  industry. It has  been generating regular earnings over the same period as  Cryp t oKnight   Ltd,   but  has  never pa id  any cash dividends   and does not intend  to for the fores eeable future .      Given  that  regular ea rnings a re being prod uced, s hould  Cryp to Max Ltd   change its  distribution policy and  pay a  reg ular  cash  dividend or not ?  Explain  your answer  based  on:     i.   Cl ientele effect  theory  ( 5   marks)   ii.   D ividend signalling theory ( 5   marks)  


